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This test consists of 8 questions.
Question Points
Q#1 /4
Time allowed. 60 minutes. Q#2 /4
Q#3 /4
You must show all necessary steps of your Q#4 /4
solution. Q#5 /4
Q#6 /4
Calculators are not allowed. Q#7 /4
Q#8 /4
This test worth 8% of the total marks allocated | Total points = /32 |

to this course.
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Question 1: Factorize the given polynomial 8 + (2y — 1)3.
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Question 2: Let U = {x| x is an even natural number less than 21} be the

universal set and A = {2,4,6,8,10,12}. Find 4’. CH
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2y3+y%—10y+3

Question 3: Let =2

=my? +5y +:75,

Perform the division and find m + n.
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Question 4: Let the set

= =5 -1.2,
A{643x/" 04v_
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List all the elements of 4 that are rational numbers.
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Question 5: Simplify the given rational expression,
52—20 z*-16
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Question 6: Let U = {-2,-1,0,1,2,3,4,5,6,7 } be the universal set.

IfE ={-2,-10,1357}, F = {x|x is aninteger, -1 < x < 5} and
H ={1,3,57}. Find(ENF)UH.

E = {__2/_4/0/4/3/5/‘7'}

F = {0/4)2,3,4} _____ @g
(EnF) U H= {0,4,3} U{’l,‘s,s,%f “@
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Question 7: Find the value of |4 = \/T5—| — |5 - \/El

(A5 |4V | = 415, (4- VA5 >o0)
4.5 (\Z_ JEl=5- Y15, (S-VE>e)
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Question 8: Simplify the following expression,
2
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